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AP-Statistics

Pre-Test

Anthropologists use known relationships between height and length of a man’s tibia bone, one of the bones between the ankle and the knee, to estimate a man’s height.  Some samples are shown in the table below.

Tibia Length (cm)
35
27
30
33
25
39
27
31

Height (cm)
167
146
154
165
140
180
149
155

1.  What is the dependent variable in the relationship above?

____________________________

2.  What is the independent variable in the relationship above?

____________________________

3.  Use your calculator to run a linear regression, and find a function 

that represents the relationship above.


____________________________

4.  Using the function that you found in (3), estimate the tibia length


of a man whose height is 160 cm.



____________________________

5.  Interpret the slope of the equation from (3).


____________________________

6.  There are 3 green marbles, 7 red marbles, and 5 white marbles in


a bag.  Find the probability of the chosen marble being white.
____________________________

7.  What is the probability that a random 2-digit number (00-99) does


not end in 5?





____________________________

Solve.

8.  
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____________________________

9.  
[image: image3.wmf]3

log(5)2

x

-=







____________________________
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11.  Find the product of A and B, where
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(Hint:  Use you calculator, if necessary.)


__________________________________

12.  The volume 
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of a cone is given by the formula 
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, where 
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is the radius and 
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is the height of

a cone.

(a.)  Solve the formula for 
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___________________________________

(b.)  Use the results from part (a.) to find the height of a 


cone if its volume is 
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p

 cubic feet and its radius


is 5 feet.





____________________________________
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